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()& = ¥ & #c (Fourier series) {ri& = ¥4 » (Fourier integral )
O s p 4~ > 4255 (linear differential equation) fe2b4v 4 jic~ > 423% (nonlinear
differential equation )
&4~ 418 K 22 (initial value problem) f-:# # & ¥ 42 (boundary value problem )

FET A2 AR (15 4)
y'+4y' +4y=5¢""*,  y(0)=2 y'(0)=5

A-i2 41T 7|3k 8P S (periodic function) hiE = F s gco (15 4)

-5 —7<x<0
{ , f(x+27)=1(x)

5 0<x<r«x

T A 3 A o S R AR (symmetric matrix ) fea #HFLE L (skew-symmetric
matrix ) et e & > T EIH FREE e £ o (15 4 )
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£ f=xz-yz>v=[4z 2y xz] few=[y® y°—x* 22°] 38 N
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R B AR AT S 2 A > A25¢ (integral equation) - (15 4 )
t
y(@t)+]y(r)dr =2
0

FiET AR (15 4)
Uy +Uy =0, u(0,y) = f(y), u,(0,y)=g(y).



